


New wave mental maths is a series of six student workbooks written for
Australian primary schools.

Comprehensively revised in 2011 to take into account the requirements of the
new national curriculum, New wave mental maths provides an ideal platform for
the development of mental skills and mathematical concepts.

New wave mental maths provides:

® comprehensive coverage of mental mathematics concepts

® opportunities for consolidation of mathematical concepts

® practice in speed of recall

® opportunities for reinforcement of ongoing mathematical concepts

® sequential development of mathematical concepts

® 3 structured daily program for the whole year

® pictorial, graphic and written representation of problems

® an in-built review and assessment program (levels D-G).

Each level provides coverage of all mathematical strands applicable to mental
mathematics activities.

A teachers manual, to accompany the New wave mental maths workbook, is also
available. This contains suggestions to help develop mental strategies, a list of
concepts covered, assessment and answers.
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1. Draw clock hands to show 7.25.35.

2. The LCD for %/, and %/, is
3-A\|B\‘C D||E\

Which shapes are congruent?

4. 80 000 + 53 000 + 27 000 =
5. Which fraction is between 0.4 and 0.67?

@v, ] o, v @[]
6.287 =10 =
7.96-09=

8. Turn the rectangle 450°
clockwise. Draw the new E
position.

9.8+4+6=

10.4x6 =
11. Which shape has the same fraction shaded?

I | | |
A B C D

-/

12,139, , =135 = %

13.7x7=(@49+47 L] (p)y10x7-3 []
©42+7 [ @3s+7 [

14. If each month of the year is written on
cards, what is the probability of choosing
a month beginning with J from a hat?

15. Write one million and
eleven as a numeral.

16. Halve 0.1.

17. | i l
80 110

What number is halfway?

18. One decade = years
19. If a car takes 10 minutes to travel
10 km, how fast is it travelling? km/hr
20.%,,,=0.
" 000 =0-
NEW WAVE MENTAL MATHS

Emmm. TUESDAY g

1. If the day after tomorrow is Saturday

what day was yesterday?

2. | 1 1
A B ©
Measure: AB = mm BC= mm

3. Write 3'/, as a mixed number.

. 50.01 100 = 0.5001
. 6500 + 19 500 + 2500 =
.23ha= m?

. Double 0.07.

0 N oo o @ »

. If you measure the length of a
fence as 8 m and draw it on a plan
with a scale of 1:100, what is its

length on the plan? cm
9.3x4x5=6x X5
4
10.2.02 = %
11. What is the area of this triangle?
square units /

12. 270 000 mm + 50 000 mm = m
13. This network can be R

traversed from F? A E

true|:| falseD

B F C

14. If a clock shows 3 o’clock, what is the size of
the smaller angle between the hands?

15. If you halve the measurements of this shape, by what
amount is the area reduced? 8

@1] ®2l] .
@3] @4l

16.1fn -8 =2.5,thenn =
17.7/,=0.

18.9x8 =

19.25% of 120 =

20. Write two point one three million as a numeral.
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gmm. WEDNESDAY

1. Write 11.25 pm in 24-hour time.

2. The following are shoe sizes of basketball players:
12,11,13,14,13,15,17.

What is the average?

3. Share $15 among 4 girls. $

4. If a square sheet of paper has a
perimeter of 28 cm, what is its area? cm?

5.3x9x4=
6.4, x77=
7. Which shoes are cheaper to buy?

(@) 40% off $120
(b) 20% off $100
(c) 10% off $90

8. Turn the rectangle
270° anticlockwise. }

9. Simplify 27/,
10.1f y x 50 = 25, then y =
11.8-%, =
12. What is the angle size of:
a?

b? 50° 50°

13.10x =10*
14.5000 mm = m
15.54 -8 =

55°
16.a = &
17.0.97,0.98, 0.99,

18. Write one hundred and eleven
thousand and ten as a numeral.

19.9x8 =

20. Shade 40 mL for each container.

9 60 mL

o
S
3
=
\)

9 100mL —{f 9

R.L.C. Publications®
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1. Draw clock hands to show 8.55.05.

=

Draw a top view.

3. If itis 1.00 pm at the Sydney Opera House, what time will
it be at the Melbourne Cricket Ground?

4.82-08=
5.9Y,+ 1, =

6. Your money box has: 17 x 20c, $1.10 x 10c, and 7 x 50c.
What is the total amount?

7.100 x =10°
8.fn+-6=55thenn =
9. 9=
10. Which shape is:
(@) an octagon. — @
(b) a hexagon. — @ @

11. What is the next car registration plate after XYZ 999?

(c) a pentagon. —

12.999 999 + 11 =
13.7x8=

14. If the car was originally $3000,
what is its price now?

15. If your new car travels 8 km in
10 minutes, how fast is it going? km/h

16. 65 000 + 95 000 + 45 000 =
17. What is the value of 3 in 3 211 744?

18. A box contains twice as many blue pens
as red pens. In total there are 18 pens.
How many blue pens are there?

19.32-7 = ,0.32-0.07 =
20. How many B boxes 2cm .
will fit into Box A? A B ||tom
2cm
4cm 2cm e
NEW WAVE MENTAL MATHS




week 18

1. What is the time difference?

2. 45000 + 255 000 =

A

Can this network be traversed?

yesl_nol ]
4.3x8x4=3x16x =
5.909<99 el lfaisel ]
6.9, = = =
7.62 +10=

8. 30% of $40.00 is

9. If there is $10.40 in 20c coins, how
many coins are there?

10.1fn +4=1225,thenn =
1.8Y,+,=
12. How many days are there in August?

13. Draw a different pentomino shape.

[T
SRERE

T
| |<22§§>

14.-8>3 true|:| fa/se|:|
15.4)928 + 2 =
16.1f7.2-y=6.8,theny =

Y

Spin the cone 180° on its axis. Draw the new position.

18.27-8 = ,2.7-0.8 =
19. Double %/,

20. If each mark is equivalent to 0.5 mL, 5
what is the level at A?

=l
=

NEW WAVE MENTAL MATHS

Emmm. TUESDAY g

1. How many hours are in a day?

2. If awall is 6 m long, how long will it be
on a house plan with a scale of 1:100? mm

3. The LCD for %/, and '/ is

4.12.3-0.8 =
5.7X6x2=

6. Write ten million, one hundred and
ten thousand as a numeral.

7.25-0.003 =

8. If a car travels 12 km in 10 minutes,
how fast is it going?

km/h

9. What is the chance of selecting an even number from a
pack of 52 cards?

10. Draw the shape’s diagonal lines.

11. Share $500.00 among 20 people.
12. 120 ' 190

What number is halfway between?
13.60 000 + 40 000 = )
400 000 + =1 000 000

14. Name this shape.

15. What is the date of the 50th day of this year?

16.3)606 =

17. Halve ¥/

18.4x7 = ( X )+2
19.1,3,9,27, , 243
20.1500 + 1500 + 1500 =

R.L.C. Publications®
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1. The LCD for %/, and '/, is

2.95000 + 125 000 =

3. Simplify 2'/,,

4. 1000 000-100 000 =

5. An icosahedron has faces.
6.42m= mm

7.%,>%,, z‘rue|:| false |:|

8.a°= B

A
9. |2+7,=4
4+7,=8
8+,=
10.x°= x u

11. Write eight point zero six million as a numeral.

12.1f4.0+y=75,theny =
13. A dodecahedron has faces.

14. Complete the pattern.
2 1 5 - 15 375
(210 125

15.1 = %
16. What two prime numbers add up to 30?
17.443 + 57 =

18. If the aggregate of a truck is 15 tonnes and its tare is 4.5
tonnes, what will its gross load be?

19. Halve '/,
20.89 000 m? = ha

R.L.C. Publications® www.ricpublications.com.au

1. What is the time difference?

2. If there are 2000 Sydney fans and
500 Brishane fans, what is the ratio
of Sydney to Brishane fans?

-

=i

]
[HE]

3. Draw the shape's
lines of symmetry.
How many are there?

4. A bricklayer laid 145 bricks in two hours. He laid 25
bricks more in the first hour. How many bricks did he lay
in the second hour?

. 999998 + 6 =

. One century = years
> tue [ taise[]
A+, =

© o0 N o O

. What is the chance of selecting an odd
number card from a pack of 52 playing
cards (including picture cards)?

10.d° = A @

1.7/, =0.07,7/ 7Y

1000 — 1000 —

12.10% =
13.800 - 570 =

14.1f a chef used a %,-cup measuring cup
to measure out 12 cups of flour, how
many ¥ ,-cups did she use?

15. What is the place value of 0 in 2 076 543?

16.6x4=3x =
17. Share $3 among four boys. each
18.1fn+18 =37, thenn =

19.10 m = mm
20.

36|B|C|[36|B|C Al12| C Al12|C
D|24 F ||48 | E |18|| D |24 | F D|E|F
G|H|®6 G|H/|I G |30 I 42| H | 6

What is the number under C?

NEW WAVE MENTAL MATHS




-
H.55 4

2.3x7x4=

w

. A car travels constantly at 100 km/h for 350
km. How many hours is the trip?

.200-50 + (40 = 8) =
. 1000 000 - 50 000 =
. 135000 + 75 000 =

~N O a1 A~

. 61/3+22/3: B

8.C= A

9. Hannah the hairdresser cuts hair for 3 days each week.
In total, she cuts 123 heads of hair. What is her average
number of clients each day?

10. One millennium = years

11.4)932 =

12. Which 2 are not nets for a cube?
| B[ ! Cl | D[ |
A | I | |

13. How many weeks are in a year?
14.1f3-y=27,theny =

15.100 = 5 =

16.2.7 > %/ true_] raise]

17.Drawa’/,
turn clockwise. }

18. Two coins were tossed one after another. Write the four
possible outcomes.

T =tails H = heads

19. Double 7.7. , Double 77.7

20. If a bus leaves its depot at 4.15 pm and has to stop at 5
locations at 15-minute intervals, what time is it by the
third stop?

NEW WAVE MENTAL MATHS

BE._ VIONDAY

1. Add 75 minutes to the time?

Emmm. TUESDAY g

1. Add 6 and one-quarter hours to the time.

-
R by 1

2. A rectangular-shaped warehouse has a perimeter of
80 m. If its length is 25 m, what is its width?

The long side is m

3. How many days are in October,
November and December?

4. (600 - 200) = (10 + 2) =
5. The LCD for %/, and '/ is
6. 18, 38,78, 158,

7. If the day after tomorrow is
Saturday, what was yesterday?

8. A football match at Octopus Oval in Sydney begins at
12.30 pm (EST). What is the starting time in Perth?

9.a= i M

10.1/9— y=8.5,then y =
11.23 000 + 14 000 =
12.(a) 72-8 =

(b) 720 000 — 80 000 =
13,

Draw the front view.

14. Share $3 among 6 girls. each
15. Shade 0.6 mL. 1mL—

16.1f 32 = 2% thena =

17.12x7 =

18. How many faces does a dodecahedron have?
19. Write the factors of 48.

20. Draw all the shape's lines of symmetry.

www.ricpublications.com.au R.L.C. Publications®




gmm. WEDNESDAY

. What two prime numbers equal the sum of 22?

—

- 100 000 - 31 000 =
. The LCD for %/, and ¥, is

H W DN

. A rectangular-shaped warehouse has a perimeter of 70 m.
The width is 15 m.

The length is m.

5. Write one million, nine hundred
and nine thousand as a numeral.

6. 8.03 = =0.0803
7.1fyx12=24,theny =

8. Without using a protractor, S
what is the size of angle x?

y°/55° 36° \.144°

9. What is the size of angle y?

10. Could this 3-D shape tessellate? @
yes [ Jnol ]

11.Does 2117 + 3119 + 4246 equal an odd or even number?

odd |:| even |:|

12. Double the length
of the sides of this 4

shape. Write the new el—\ilz

measurements on 3
each side.

13. How many surfaces does a solid hemisphere have?

14.5%:10)_

15.100% = ", =

16. Draw the
reflection.
17.200 000 + =1 000 000
18.3+Y ,+ 7, =
19. Complete the pattern.
X A X

AQ T x xQ alx3
X | x X X

20.10 ha = m?

R.L.C. Publications®
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g THURSDAY

1. Simplify 1%
2. What is the median of 5, 8, 10, 12?

3. Name this shape.

4.1fyx6 =24 then y =

5% =@ L1 ] @v[] @2s5l]

5

6.%,=0. = %
7.8x4x3=

8. $50.00 — $31.65 =

frue |:| false |:|

10. If on a building plan a line representing a wall is 90 mm
and the plan has a scale of 1:100, how many metres long
is the actual wall?

9.9, =1

11.32 000 + 158 000 =
12.9x12 =
13.112=

14. Draw a line to create an irregular pentagon.

15. | !
A B
Measure line AB. mm

16. | } } } ]
0 0.25 05 0.75 1

What is the chance of picking hearts or diamonds from a
deck of 52 cards? Mark it on the scale.

17.8%,+ 1%, =
18.15 000 — 9500 =

19. Follow the instructions to correctly match %,, 0.8, 17/,
and "%/, to each box.

(@) A fraction is left of the decimal
(b) The mixed number is right of the improper fraction
(c) The decimal is left of the improper fraction.

20.13",+y=3%,theny =

NEW WAVE MENTAL MATHS




BE._ VIONDAY

1. Add 1"/, hours to the time.

2.7/ is between: (a) 0.2 and 0.3. [ ]
(b)0.3and0.5. [
(c)0.5and 0.7. |:|

AN

3. Name this shape.

4. If the day after tomorrow is Wednesday,
what was the day before yesterday?

5. 230 + 480 =

6. If you place a block into a water-filled bucket and 10 mL
of water is displaced, what is the cubic size of the block?

7. There are weeks in a fortnight.
8.23-09=

9. Draw the right-side view.

10. Change 4%/, to an improper fraction.

11. Lucy’s MP3 player has half as many songs as Sam's
player. Which expression can be used to show the amount
of songs on Lucy’s player? (s = Sam, / = Lucy)

@sx2 [ @s=20]
©s+pl] @i:20]
12.2417 =20+ 4 + 0. +0.

13. What is the radius of a biscuit
tin with a 30-cm diameter?

14.(a) 2x25000 =
(b) 4 x 25000 =
(c) 8x25000 =

15.7%,+ 2/, =

16. The time is 4.30 a.m. What
will it be in 10 hours?

A
A

Alex walked from A to B.
How far did he walk?

17. 1T 7 1T 0 T T T 71
0

18. odd + even + even =
19.1f 100 000 = 104, then a =
20. Halve 0.01.

NEW WAVE MENTAL MATHS

Emmm. TUESDAY g

1. Add 9 '/, hours to the time.

. 200 seconds = min. Sec.
. 285000 + 70 000 =

.48 =12 = +6=

. Double 269.

. The LCD for %, and %/, is

| ! | ! | ! | ! | ! | ! |
0 A A 12 km
A B

Alicia walked from A to B.
How far did she walk?

©® N o O & w

9. What is the product of 6 and 9?

10. The clock's hour hand fell off 10 minutes
before 11 o’clock. Draw the hour hand in
the correct position.

11.0.35 = %
12,1740 + y = 130, then y =

13.N )

Draw after a %/ , turn clockwise.

14. If there are 10 000 Collinghoods fans and 1000 Bullfrogs
football fans, what is the simplified ratio of fans?

15. How many sides does an octagon have?
16. What is the sum of 8 and 77
17.818 + 19 =

18. Write 8.195 million as a numeral.

19. 8500 mm = m
20.8 +6Xx5 =

R.L.C. Publications®
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gmm. WEDNESDAY

1. What date is the 40th day of a leap year?

. What is the product of 8 and 4?
.Ifa-30=50,thena=

31 —
9

;oA W N

10cm

A 2cm
8cm % @i

16 cm 4cm

How many B boxes will fit into Box A?
6. Which two prime numbers are the sum of 32?

7.29-7=

8. aO = 750

9. Halve 1.2.

frue |:| false |:|

10./,> 0.07
11.17 +5x6 =
12.10 kL = L

13. Shayan (s) has twice as many marbles as Matthew ().
Which expression shows the number of marbles Shayan
has?

@s=2[]
© sx2 [

14.$5.00 - $1.20 =

) mx2[]
@s+2L]

15.60 =12 = +6=
16.8)408 =

17. Name this shape.

18. Draw the net of a
triangular prism.

19.12 000 mm = m

20. Order the boxes of cereal from lightest to heaviest.

R.L.C. Publications® www.ricpublications.com.au

1. What is the perimeter of a
7-cm regular pentagon?

2. Draw a diagonal line to make an irregular
hexagon.

3. Which is the acute angle?

N\

4. How many faces does an icosahedron have?
frue |:| false |:|

6. A pop star, Tiffy Pearl, has a pathway made of rose
petals. It takes 2.5 kg of petals to cover 1 m2 Her path
to the stage is 2 m wide and 8 m in length. How many

kilograms of rose petals are needed?
1
<,

AN

11.1s 1735 divisible by 37 yesl_1nol ]

5.%,=0.75

()

7.4+8=
8.94-9= ,94-09=
9.40-0.08 =

10. Name this type of triangle.

12.11x12 =
13.1f2 x a = 400, then a =

14. If you draw a wall 100 mm long on a plan with a scale of
1:100, how long is the actual wall in metres?

m
15.1 150 000 + 250 000 =
16. What is the difference between 101 and 10?

17.$50.00 — $29.35 =

18. Which set of 4 are prime numbers?
@ 2,591 ] (36911 []
© 24610 ] (25719 []

19.17 000 + 9000 =

20. If the Adelaide Parrots begin their football game at
1.30 pm (CST) at home, what time is it in Perth (WST)?

NEW WAVE MENTAL MATHS




FRIDAY TEST WEEK 17

1. Draw to show 2:35:50.

2.1fy+3 =4,theny=
3.3.04= %
4. Halve 0.3.

5. 25% of $200.00 =
6. Which fraction is between 0.2 and 0.4?

@, o] @] @[]

7. If it is 6.00 pm in Adelaide,
what time is it in Sydney?

8.1fn+-8=4.5,thenn=
9. What is the value of 5in 5 172 996?

/Y
mm

X

10. Measure line XY.

11. What number is halfway between 70 and 140?

12. Whichiisanet A B | | ©
of a cube?

13. What is the mean of 15, 35 and 25?

14.9000 mm = m

15. Draw as a '/, turn clockwise. M D

16.60.5 ~ 100 =

)

w
o
3

=

17. Shade 25 mL.
18. 3.16 million = 20 mL

19.Draw arrowsto ~_E B
make this true. N| | 10mL

NE
A

20.1fn+6=25,thenn =

21. Share $17 among four boys. $ each

22.6)840 =

23. If a car takes 20 minutes to travel
15 km, how fast is it going?

24. If yesterday was Tuesday, what

is the day after tomorrow?
25. How many B
boxes will fit 18 cm
into Box A? A
21 cm E" 6.cm
27 cm 9cm L
NEW WAVE MENTAL MATHS

FRIDAY TEST WEEK 18

1. What is the probability of selecting an odd
number card from a 52-card deck?

2. Round 0.639 to the nearest tenth.

3.%, >, frue D false |:|

4. The aggregate of a truck is 20 t and
its tare is 8.5 t. What is the gross? t

5. What is the volume of a room with
measures of 10 m x 7 m x 3 m?

. 65 000 + 325 000 =

. Halve '/,

L N o

.3X7x4=
9.1f6.2+y=7.9,theny =
10.73 000 m? = ha
11.1,4,16, 64, ,1024
12.7%, + %, =
13. VYhat number is halfway betheen 140 and 210?

140 210
14. Share $6 among 8 girls. $ each
15.3)804 =
16. Which two prime numbers add up to 20?
17. An icosahedron has faces.
1850 =0 & =0 e o)

19.a°= A‘Fﬁi

20. If it is 2.40 pm in Darwin (CST), what
is the time in Melbourne (EST)?

21.50 + 80 + 60 =

22. If there is $12.60 in 20c coins,
how many coins are there?

23. If you measure a wall as 9 m in length and draw it using a
scale of 1:100, how many mm long is it?

mm
203:1,=6
6+",=12
9+1,=
25. What is the number under A?
Al21|C Al21|18 A|B|C A|B|18
D[15(3 | [D|E|3|» (27|15|F|» | D |15|F
G|9]|1 12| H| | G|H|24 G|9|24

R.L.C. Publications®
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FRIDAY TEST WEEK 19

1. Between 1974 and 2004 is decades.

2.1000000-15=

3. Share $4 among eight boys. each
4. 42% = 0. =

5.5)200=10)

6. A car is travelling at 100 km/h. If it makes no stops and
travels 650 km, how much time does the trip take?

7. Write one million, one thousand
and ten as a numeral.

8.300-50 = (50 = 5) =

9. The time is 6.30 pm. What will the time
be in 4 hours and 20 minutes?

10. Without using a protractor, what is 82°
the size of a°? o

a®/b° 39°\.141°
11.5)300=10)

12. If the day after tomorrow is Wednesday,
what was the day before yesterday?

13.12x9 =
14.363 -8 =
15.a°= JA

16.1f 100 000 = y5, then y =

17. Draw a top view. E%

18. Can the above 3-D shape tessellate?  yes |:| n0|:|

19. If a bus leaves its depot at 6.20 pm and
stops six times with 12-minute intervals, “

what time does it reach the fourth stop?

20.%/,=0.
21.Draw a '/, turn
clockwise. )
22.100-0.005 =
23.6100 mm = m

24. How many faces does an octahedron have?

25. A rectangular-shaped warehouse has
a perimeter of 90 m. If the long side
is 35 m in length, the short side is m.

R.L.C. Publications®
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1.045= %

2. Your school has twice as many girls (g) than boys (b).
Which expression shows the number of boys?

@g=2l1 mgx2l] ©b=2] @pnxy[]

5. Write 6.237 million as a numeral.
B C
6. Which is an obtuse angle? / \ ;
A

1.9,+,=
8. %/ is between: (a) 0.3 and 0.5. [] (b) 0.5 and 0.7. []
(c)0.7and 0.9.[]

3. The product of 6 and 8 is

4. Name this shape.

9.37+92=
10.100 kL = L

frue |:| false |:|

12.40 = 8 = .

11.1,>0.9

13. A nonagon has sides.

14. Which is not A B
anetofa
triangular
prism?

15.500 - 0.009 =

16. 9.97, 9.98, 9.99,

17.1s 1935 divisible by 9?7
18.1f2x a = 1000, then a =

A0

20.17 500 mm = m

21. If there are 8000 Newcastle Magpies
fans and 4000 Adelaide Devils fans,
what is the simplified ratio?

19. Draw the
top view.

22. What is the perimeter of a regular
hexagon with 9-cm sides?

23. Which box is @ @ @

the lightest?
24. If you place a 5-cm?® block of wood into a
bucket of water, what capacity is displaced? mL

25. What is the probability of selecting a green
jelly bean from a jar if there are 50 green,
100 red and 100 white jelly beans?
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g —
15. 46 22. 140 7. true 22. 63
16. 35 23. 45 km/h 8. 160° 23. 90 mm
MONBAY 17. 1.00 24. Friday 9. 16 24. 18
I 18. 111010 25. 63 10. 105 25. 6 (magic square
19. 72 11. 8,060 000 adding to 45)
20wy om o | S | 12 35
. 1. 34 14- 125 MONDAY
- ooy 2. 300 000 75 1. .10
5. ()Y, THURSDAY o 50 2. 84
6. 2.87 1. 4.2, 9 15.100% 3. 3/, hrs
7. 87 5. true 16. 7,23, 0r11,19 or 4. 30
8. [m w] 6. Y, oy 13,17 5. 950 000
9. 18 7.6.2 17. 500 6. 210 000
10. 24 2 8. $12 18. 105t 7.8/,=9
1.8 3. 9. 52 19. '/, 8. 70°
12. 135% 4. 7.4 10. 49 20. 89 ha 9. #
13. C 5. 9+9,=10Y, 11. 9, THURSDAY 10. 1000
14. 3in120r1in4 6. $8 12. 31 1. 110 min or1 hr50 min. | 11. 233
151000 011 7.10000 13. 2. 200:500 0r20:5 or4:1 | 12. Band D
16. 0.05 8. 33 3. 8 13. 52
17. 95 9. 81 H EIE R 14. 0.3
18. 10 10. octagon —C = T 15. 20
19. 60 km/h hexagon — D 14. false 16. false
20. 0.003, 0.011 pentagon — B 15. 116 4. 60 17.
TUESDAY 11. XZA 000 16. 0.4 5. 1000 004 K| |
1. Wednesday 12. 1000 010 17 6. 100 18. TT, HLTH, HT
2. AB =37 mm 13. 56 7. true 19, 15.4, 155.4
BC =25 mm 14. $2100 8. 57, 20. 5.30 pm
oz 15. 48 km/h 18.19,1.9 9. 28 out of 52 CUESDAY
4. + 16. 205 000 19. %/ or 1Y 10. 310° 1. 538 pm
5. 28 500 17. 3000 000 20. A=5mlL 11. 0.007, 0.07 > 1o 95 m
6. 23000 M2 18. 12 TUESDAY 12. 100 Do
7. 0.14 19. 25,0.25 1. 24 13. 230 " 50
8. 8. cmor 80 mm 20. 5 2. 60 mm 14. 9 B
9. 6x2x5 FRIDAY 2 1?5 }g :302 4000 6. 318
10. 202% 1. .8,
11. 18 m " 5. 84 17. %/, = $0.75 or 75¢ ; X\ﬁgge:dmay
12. 320m 6. 10110 000 18. 19 !
13. true 7. 24.997 19. 10 000 mm 9. a=45
14. 90° 2, 8. 72 km/h 20. 54 (multiples of 6, 10. 0.5
15. d 3. 9. 24 out of 52 starting from 6) 11. 37 000
16. 20 4. 10. T 12. 64, 640 000
17. 0.125 5. 1.5in13 13.
18. 72 6. a 2.06 14. 50c
19. 30 7. 630 pm 11. $25 3. true 15. | m
20. 2130 000 8. 36 12. 155 4. 1151 } 3
WEDNESDAY 12' SOO?nOmOOO 13. 100 000, 600 000 g ?98 8180
1. 2325 11' 105 14. decagon 7- 1/ 16. 16
2. 14 " 2' A 15. 19 February 8- o 17. 84
3. $3.75 13' A 16. 202 g. o 18. 12
4. 49 om? 14, 9m 17. %/, or'/ 10. 7.3 ha . 1‘62:2?1‘ 1'86’ o
5. 108 ’ 18. 8x7)=2o0r 11.2.56 e :
6. 28 (14x4) =2 :
7. @) 12 p— 19. 81 12. 8%, = %/,  or9' 2 3
8. - 20. 4500 13. 175 4
9. 7, ' WEDNESDAY :‘51 ggf 5
1) L1 16. 3,17 0r7,13 6
2 .3, .
L5 18. 3160 000 % ;220 000 17. 20 WEDNESDAY
12, 130°, 130° 19, B 3.9, 18, 0.8, 0.008, 0.08 1. 11,11 03,19 or5,
13. 1000 ! g 280 000 19, 260° 17
fom 20. 15 6. 4200 20. 3.10 pm g gg 000
21. $4.25 21. 190 .
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13.
14.
15.

16.

17.
18.

19.

N
o

—_— ek ok ek
A LW O

15.
16.
17.
18.
19.

N
o

©

—_— ek ok
w N = O

“So©0 ®» No oA

ONO U A WN =

PNO oA LN =

20m

. 1909 000

100
2

X =289°

L y=125°
. yes
. even

800 000
3.74

X

A X

. 100 000 m?

THURSDAY
%
9

3

. parallelogram

4
(b)

. 0.75=75%

96

. $18.35
. true
.9m

. 190 000
. 108

. 121

Qo

45 mm

0.5

9%, =10/,
5500

S or'

FRIDAY
3

. 999 985

50c
0.42 or*/,
400

. 6'/, hours
. 1001010

295

. 10:50 pm
.a=121°
. 600

. Saturday
. 108

14.
15.
16.
17.

18.
19.
20.
21.

22.
23:
24,
25.

365
105°
10

yes
7.08
0.75

V]

99.995
6.1m

10m

11.
12.
13.
14.

15.
16.
17.
18.
19.
20.

—

11.
12.
13.

14.
15.
16.
17.

© PNO O A ®WN S

SoEeNDU AWM=

MONDAY
. 12.45 pm
B
. isosceles
. Saturday
710
10 cm?®
2
1_.4

[]
[ |

31/7

(b)

0.1 +0.07

15¢cm

(@) 50 000

(b) 100 000

(c) 200 000

9%,=10

2.30 pm

3000 m or 3 km

odd

5

0.005
TUESDAY

. 3.20 pm

.10 700

.- 3:min. 20 sec.

355 000

24,4

538

24

. 7000 m or 7 km

10:1

15
837

18.
19.
20.

G G G G G G 'y
O NGO~ WN—=OO®

[ G QI G §
w N = O

® NN

S N & gl B e

0 N & a1 A o=

8195 000
8.5
38

WEDNESDAY

. 9 February

32
80
3,
80

. 3,29 0r13,19

22
15°
0.6

. true

.47

. 10000 L

. (b)

. $3.80

. 30,5

. B

. regular nonagon

Lt

19.
20.

12m
C,AB
THURSDAY

. 35¢cm

A
20
true
40 kg

. yor'f,or0.5

85

L 39.92
10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.

scalene

no

132

200

10m

1400 000

91

$20.65

D

26 000

12 pm
FRIDAY

45

(@)

48

. scalene triangle
. 6237000

B
10",
B

. 129

. 100 000 L
. false

. 20,5

.9

14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24,
25.

A
499.991
10.00

yes

500
11
17.5m
2:1

54 ¢cm

C

5mL

50 out of 250 or 1 out
of 50r0.2
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New wave mental maths will sit comfortably with any mathematics program.
Day-by-day activities cover all mathematics strands and are developmental throughout
each book and the series. Supported by a weekly testing program (Levels D-G), New wave

New full-

mental maths is the complete mental mathematics resource at the right price.

How New wave mental maths works

Comprehensive coverage of mental mathematics concept

Student
assessment is
done at the
end of the
week in Levels
B-C.

New wave
mental maths
is more than a
workbook!
Each workbook
contains useful
maths facts

for students to
refer to.

2.490+340=

4.16+4=2xa,then

8. Is this angle lkely to

be 45" or 1152

14.13417=

Legend
Number and Algebra
——

Measurement and
Geometry
_>
Statistics and
Probability

—

Its place value is:

17.54 -6

18. Simplity ¥,

of 52 playing cards?

out of

20. 9995, 9997, 9999,

WEDNESDAY

1. Draw clock hands to show 4.50,

3. Complete the number line.

5. Avea (LxW) =
m

6.1, = (@] [CImEA

7.9,=0. = 2

9. 1.11km= — the leer shape.
10. What s this 3-D shape? U
11,87 +49=
12. Which 2 equations are true?
11, Wiite 37, as an improper fractio @L)5x9=
12. I a plane is travelling from Perth to Adelaide, ®)J8x6=48
in which direction i it traveling? ©136-4=9
@W]32+4=9
1o [ 200 | [ 2o0am | 13, odd x odd =
14.50x40 =

What s the time difference?

15.4x7=128,8x7=56,16X7 =
16. In 23 000 the meaning of 2 s 20 000,

L1000, [ 10 000,

19, What s the probabily of
picking a Jack from a pack

H
@ 1. Draw clock hands o show 3.05 O H
2.10% = . =0. ®
a
3. Area (LxW) n 3
= = m
1
4. For Question 3, the perimeter = m.
5. 0565 km = n
6. 1%,,= "%, =
7.200-39=

8. 1fa plum weighs about 50 g, how many
plums would be in a 1-kg bag?
9. The sum of 8 and 7 is
10. Draw a reflection of

15. On a compass rose, what direction is this? ?

% g —> [
What is the time difference?

17. If the ratio of boys to girls Is 2:1,
how many boys are there f there are 5 girs?

fefotefel 18, 52=149
20, Use the abacus to show 3,064,

L. Publcations®— wnicpubications con.au

19. Is -3 (negative 3) greater than (>)

orless than (<) 17
© T

New wave mental maths: Teachers guide

Features:

Written to support
all levels of New
wave mental maths,
the teachers guide
provides background
information and
support to allow the
smooth operation of
the program in the
classroom.

» how to understand and develop
mental mathematics
» how to use mental computation in

real life'

» how to use New wave mental maths in

the classroom

« assessment strategies
« specific week-by-week concept
development outlines

« answers provided.

RIC—1707 978-1-921750-06-9 $32.95

Individual assessment - Concept specific

Sample pages

Incorporating
new national
curriculum
requirements

Boo

Useful maths
reference included
in each workbook.

T0x10= 100

The number above the i,

Thg | Vaa 2 [ Y2 | Yha | ha
s s Vs

Fractions

e, T3
ar n considraton —4
one whols
T
s s
Vo | T | U | Vs |
i s
g g Vg
T [ s [ T | T [ T

7
ha

Tho | tho | Mo | Tho | Yho | Yo

kg =0 '

ackets f 125 g choolte?

“smm-0 n

220 pm and Fiday 440

& Filinhe missing nmber.
0

82285 10=
a.25%10m =

1. The plce vl of7in 1769302

120728 -m

16 Aaund 71 090 1 th nearst housand

i eoresson matches? What s te ot mass o 25

25 x1250] 0125 + 125 @ 1252511 (0 =,

5 How many days hours and mintes betwen Wochesday

17 Wt ndescencing rer 234, 18%,0.11,90%,

et

)

[ oo | e | e ]
At the heart of
NEWWAVE MENTAL MATHS
[
|
[ s

Weekly testing
included in
Levels D-G.

P

22.510000- 53000

ool wath 1,10 o v

24, Wt type of prism s 7 faces?

21 Wha s e ara of 2.4 m 0.5 m ale? m~

25, ha s e cotofbing 60 Lot uiadd

1419359 o e st 1000
ke aversad? ] |
070480
6 17x20-

7. 3oty 927

8700-45=

9 Found .03 1 e st o,
20,2500 + 850000

o5 cah woek
L

workers I 1 produces 1000 Lpe week.How mueh does

ot whatis h st of 5 of ra?

@Y

STUDENT RECORD SHEET
[ eeca: | [_weexas [ weeicas ]|_weeicas_I[_wes L [veecso ]
M M M M M M M M M M
Tu. Tu Tu. Tu Tu. Tu Tu. Tu Tu. Tu
w w w w w w w w w w
Th Th Th. Th Th. Th Th. Th Th. Th
F F F F F F F F F F
[ eeca | weeicsa ]| weess J|_weeias ]| weess J|_weeise ]| weesr J|_weeise ]| weexss ]| weeiao ]
M M M M M M M M M M
Tu Tu Tu Tu Tu Tu Tu Tu Tu Tu
w w w w w w w w w w
H Th. Th Th. Th Th. Th Th. Th Th. Th
5 F F F E F F F F F F

Student record sheet

New wave mental maths workbooks

978-1-921750-00-7
978-1-921750-01-4

Ages 6-7
Ages 7-8

Book B RIC-1701
Book C RIC-1702

Ages 8—9 Book D RIC-1703
Ages 9—10 Book E RIC-1704
Ages 10—11 Book F RIC-1705

Ages 11+
$11.95 each

Book G RIC-1706

978-1-921750-02-1

978-1-921750-03-8
978-1-921750-04-5
978-1-921750-05-2
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